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54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936

B \

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935




6. o= Z1HOlA cosx +siny O g otoiz),

ov2 @22 @i @28 63\

B

cosx +siny =

2V3  2V3 _4V3 _
4 4 4




ol Hp
N ofn
ERION
ol
G
op =

ool

EYESERS

cos A
tan A

Q@ ®

IS
| | _

@ sin A
© cosB
@ tanB

ull
KO

ul
RO

Slo IR

© cosB
® tan A




ot J"oA BAC = 90° o],
BCLAHOo|th, /CAH = x@t & o,
tan x 9] gE2?

3 4
@3 ® 3

5
® 5

@
@

S| W | N

AC=V152-122=9
AABC O AHAC (0 AA B2)

9 3
— /ABC O|E2 tanx = — = -
X VA C ] tan x 12 4




L—l*ﬂn’ﬂ—aéABCQ]/ﬂny’] B
#e FotodeEl (H 0°< A <90°)

\VARR 4
0x
L

50 V2

B

HIH 9] dof7} Fold A&
y=AC =ABxcosA 0|2 &

1
y=15x§=50]t}.

wetaetA Ao s x = V152 — 52 = V200 = 10 V2 ©]t}.
wat A xy = 5 x 10 V2 = 50 V2 ©]t}.




4 cm
A B

@2\/50m @ 4+5cm ® 2+V7cm

@ 3cm ® 4+3cm

BC 2 2
:=_—OEE = — O
sin A 3 ] 4 AC><3 =
= AC = 6cm

25 cm ©]t}.

et menets Galo] o) AB = VB2 - 42 = V20 =




11.

tanA = 0.5 & o, sin A + cos A &] FF-27(H, 0° <A <90°)

V5 25 35 45
oF o5 @F 05 o
A
1
tanA = 0.5 = 3 o|lm g
AB - VT2 — V5 olt}
1 2
sSinA = —, cosA=—
V5 V5

w2t sin A 4 cos A =

(U4
|2

olt.




[=p}

12. /C=90° ¢l AABC °J|A] tanB = 3 o o, sinB 9 &2

A

\




13. sin(90°-A) = % A o, tanA ] F-2? (F,0° <A <90°)

5 5 12 13 12
@ = ® = @ — ® 3

®E 13 5

B

sin (90° — A) = cos A

5
tanA = —
an 12

BEEPN
13cm N
.
L’ 5cm
z '
P /

A\‘~12cm-‘/




14.




15. 2sin45°cos45° + cos30°sin30° 9] 3F2?

V3 V3 V3
© 1+ @1+T ® 2+ -
@2+? @2+§

2sin 45 ° cos 45 ° 4+ cos 30 ° sin 30 °

=2X

X
|

_|_
|
[
Il

1+

Sp
=
&

V3
4




16. o I"oA AB = 8cm, £A = 30° € W, x,y &] Ao]E oot

v V. v Vv
0
o
=
I
3
=

X
1 300 = —
Sin 3

1
x =8xsin30° = 8><§ = 4(cm)
Y
30° = =
cos -

y=8><cos30°:8><\/7§:4\/§(cm)




vV V¥

17. ©hg AZd7gel A AB o) Lolg Pt A

AB =10V3

of 2}, \19
B 60°N\
=1
HEFD 103
A

10

o \
= 60°N

_ AB
tan60° = E = \/g




18. o= ™A y—x 9] 27

6)6

cos30°:B:ig y=12
y 2
sin30° = ~— — = O|BZ x=6
12




19. & a9 Zo] /B =60°, «C = 45° ¢l AABC o4 AHLBC o],

AB = 8cm ¢ m], AC 9] FoJ=?

@® 4cm @ 4V3cm 3 4+v6cm
@ 8cm ® 8+6cm
AABH °l| A sin60° = i:l];l = A?H = \/75’_1{ = 4V3 (cm)
ojlmg
: AH  4V3 2
AAHC °f|A] sin45° = - % 2 46 (cm) ©]t}.




20. 7AHEIe] 720l AL E ekl AR S8R e} 54 A o)
Hl&o] o8] ZAH. the F AL} A BATH B 2L

@ sin A @ cos A @ tan A
1 1
@ sin A cos A

B A A Y vl Az oA BT Eo] 9
S2 AT 4 082 tan A o 7P AT At

= 4




S 940 5 A A(-2, 7).B(5, 12) 8 Ak A4o] x H] o)
Wt ol o2te] F71% y ek o, tany €] AL ToHIeL,
> =

> mer: 2

(=°l) (o ¥t olsisi o] Silo
tanf = @) = (19’] EEES = |[(ZAFg=9] 71&7])| ©]
2=
-7 5
tany = 5= (=) =z ot}




wEA 9] ol 191 AR

e Nge)
= i

22. o

Aolt}. o

=BC

@ cosC

=DE

@ tanA

=BC

@ sinA

=AB

@ sinC

@COS A

=DE




23.

0= & A2 ghol dia #A| = &7

U2 AZ BFIEH?
@ sin45° = cos45° @ sin 85° > sin 25°
(@)sin 40° > cos 20° @cos 10° < cos 80°
® sin75° > cos 75°

B

® 0°<x<45° A HHo A, sinx < cosx O|B&2
.. sin40° < cos 20°

.. cos 10° > cos 80°

@ 0° < x < 90° ¢l HYN A= x 9 gto] Z716HH cosx &
21 A 0 7kA] A,




24. 0°<A<90° & o, 5= 7hs] shA?

—

\/(cosA +1)%+ \/(cosA —1)%* + Vdcos?A

D cosA-1 @ cosA+2 ® 2cosA -1
@ 2cosA+1 @2COSA—|—2

B

0°<A<90° O0<cosA<1

\/(COSA +1)% + \/(COSA -1)* + Vdcos?A
=cosA+1—(cosA—1)+2cosA
= 2cosA+2




25. Tt 1#O] AABC oA AZH]|9] 5 Hil a o] & 75

T sin = cos T tan z

43° 0.6820 0.7314 0.9325
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